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WARNING
1. PLAGIARISM OR HIRING OF GHOST WRITER(S) FOR SOLVING
THE ASSIGNMENT(S) WILL DEBAR THE STUDENT FROM AWARD
OF DEGREE/CERTIFICATE, IF FOUND AT ANY STAGE.
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“AIOU PLAGIARISM POLICY”.

Course: Mathematic-1 (1308) Semester: Spring, 2014
Level: F.A/F.Sc Total Marks: 100
Pass Marks: 40

ASSIGNMENT No. 1
(Units 1-5)
Note: Attempt all questions and each question carries equal marks.

Q.1 a) Prove the following identity.

tan + coto
% = —secH
tani— cuti
b)  Find the periods of the following functions:
i) sin% i) sec9x
Q2 a) Showthattan™*A +tan~1B = tan~ 122
- (i i _ .1, i rt_r,*r,1
b) Show that: (i) P + - + — (i) - == 4 — + -

c) Reduce sin*# to an expression involving only function of_mulfiples of &,
Q.3 a) Findx,if tan?45 — cos?60 = xsind5 cos45 tan60’.
b) If cotd = % and the terminal arm of the angle is in the 1% quadrant, find the

value of
3sin @ + 4cosd

cosf — sing

Q.4 a) Provethat: abc(sina +sinf +siny) = 4As
b)  The sides of a triangle are x*+x+ 1, 2x + 1 and x* — 1. Prove that the

greatest angle of the triangle is 120",

Q5 a) If a B,y are the angles of a triangle ABC, show that



o o
cot— + cutg + cut% = cnti cctgmtg
b)  Provethat ] ]
i) cos20 + cos100 + cos140 =10
.. sin@+ein 30 +ein58 +5in 78

i = tan 48
) cosf@+cos3f +coesf+cosTH

ASSIGNMENT No. 2
(Units 6-9)
Total Marks: 100 Pass Marks: 40
Note: Attempt all questions and each question carries equal marks.

Q.1 a) Evaluate the following limits

. . 1—cosf .. . 1—cospf
i) limg_g 2 i) 11111,9_,[,.1_”EHTIEI
VIRTE—EET .
b F f={ = *FZ
I x=2

Find value of k so that f is continuous at x = 2.
Q.2 a)  Apply the Maclaurin series expansion to prove that
—_— Iz B
Vitx=1+2-Z+5 ..
2 2 16 "
b) Find y, if y=In(x*—9)
- 1
c¢) Showthat ¥ =x* hasaminimumvalueat x = -
Q.3 a) Prove the following
i) sin'li; + sin'lli +sin1 I

&5
. 1 1
i) 2tan'1§ +tan~1==1=

7 2
b)  Find the value of each expression
i) tan(cas‘lt—aj i) sin[tan™(-1)]
-1120 _ -112
¢) Provethat tan e 2cos e

Q.4 a) Find the value of & satisfying the following equations

i) 3tan?6+ 243tanf+1=0 ii) 4sin*8—8cosf+1=0
b)  Find the solution set of the following equations
i) sin7x —sinx = sin 3x (ii) sinf +sin38 + sin58 +s5in78 =0

Bnr .
Q.5 a) If y =e**sinbx, Show that %— 2a:—i+ a2+ b%)y=0

. . P41 -1
b) Differentiate — w.rt —
s § x+1

W_¥ jr ¥_iant®

c) Showthat === if —=tan -



